IBPS Clerk Prelims Memory Based Mock 2021 (Based on 12th December)

Directions (1-6): Each question is divided into four parts in which one part may or may not have error.
Choose the part that has the error as your answer. If all the parts are correct choose (E) i.e., No Error.

Q1. (A)Apart from contributing/(B) to air pollution, a large number/(C) of vehicles on the Indian
roads/ (D)also contributes to noise pollution/ (E)No Error.

(@) A

(b) B

(© C

(d) D

(e) No Error

Q2. (A)Farmers who had stayed put at/(B) sites around the national capital/ (C)for a year are now
dispersing, /(D)but not with much clear on the road ahead/(E) No Error.

NRA CET Ready

Q5. (A)You had better/(B) to watch the/(C) way you talk to/ (D)me B A N K
in the future/(E)No Error.

(@) A

) B MAHA PACK
E(c:i))(]j) Live Classes, Video Courses,
(e) No Error Test Series, eBooks
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Q6. (A) I reached at /(B)10 am, but he/ (C)was latter than/ (D) I expected/ (E)No Error.
a)
b)
)
)

e) No Error

A
B
C
D

AN TN N N N
Q.

Directions (7-11): In the following questions five sentences are given. You have to rearrange these
sentences to make a contextually meaningful paragraph. Later, answer the follow-up questions.

(A) And because no light can get out, people can't see black holes.

(B) The gravity is so strong because matter has been squeezed into a tiny space.

(C) A black hole is a place in space where gravity pulls so much that even light can not get out.

(D) This compression happens when a star is dying.

(E) They are invisible and space telescopes with special tools can help find black holes.

Q7. Which of the following would be the correct order of sentences after rearrangement?
(a) DEBAC
(b) CBDAE
(c) ABCED
(d) BACED
(e) CEDAB

QS Which of the following would be the THIRD sentence after rearrangement?

C
d)D

E
Q9 Which of the following would be the FIRST sentence after rearrangement?

C
d) D

E
Q10. Which of the following would be the LAST sentence after rearrangement?
(a) A
(b) B
(¢ E
(d)D
(e) C
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Q11. Which of the following would be the FOURTH sentence after rearrangement?
(@) A
(b) B
(©C
(d)D
(e) E
Directions (12-19): Read the following passage and answer the given questions based on the
information provided in the passage.

New employee orientation programs have been shown to socialize newcomers and increase their
knowledge, skills, and abilities upon completion. These types of programs are perhaps the most
influential piece of an employee’s development. Although many organizations include orientation as
part of their new employee development tactics, few truly utilize its full scope. New employee
orientation programs are deliberate attempts by an organization to introduce a new employee to what
working for the organization will be like. Although orientations can teach some important skills and
abilities, they also teach new employees about the organization’s history, goals, values, people, politics,
and language. Orientation programs start off the socialization process and help the new employee fit
into his or her new surroundings. New employee orientation programs may sometimes feel like a stale
period of high anxiety and stress while training takes place when these potentially harmful feelings
have most likely been resolved. A great deal of time and money is spent every year socializing and
technically training employees.
Making sure this investment is well spent should be a central concern. However, this is not always the
case. Because training is expensive, organizations should make sure they are effectively preparing
employees to run for on-the-job success by delivering the proper training content and teaching it the
right way. Assessing the training needs of new employees consumes time and money, but it sends the
message that the organization is committed to the development of its employees, to giving them the
right tools to perform and putting them in a position where they can succeed, all of which are
recognized goals of new employee orientation programs. Helping a new employee fit into his or her
job and organization is important when considering job satisfaction, commitment, and retention.
Whether potential candidates accept the job or not is somewhat influenced by how well they believe
they will fit into that company. Thus, developing an orientation program that will not only properly
train new hires, but successfully introduce them to their new organization is extremely important.
The attributes an employee needs to succeed on the job, including those desired upon entry into the
job, can be found through an analysis of the necessary knowledge, skills, and abilities required to
perform the essential functions of the job. Since technical skills training is meant to enhance those skills
and abilities needed for a job, it makes sense that training should have a close
(I to whether or not a new employee fits into his or her environment. A big
difference between Japanese and western organizations is that orientation programs are much more
important to Japanese organizations because they want to cement a lasting relationship with new
employees. Thus, the Japanese approach to selection and recruitment also works hand in hand.
Japanese firms hire almost entirely at the entry-level. This is done so that the new arrival can be
properly trained and socialized into the organization to be a good fit. The length of this process can
vary from six months to three years, whereas in many western organizations a new employee merely
completes the required HR paperwork and is then suddenly expected to execute the role for which he
or she was hired.
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Q12. Why is it imperative to undertake the socialization process in orientation programs?
) To ensure that the expenditure incurred on orientation is well used.
b) To assist the new employee in acclimating to his or her new environment.

(a

(

(c) To give the appropriate training content in a timely manner.

(d) To improve the skills and talents required for the completion of the tasks.

(e) None of these

Q13. How does the author differentiate between new employee orientation programs and training?
(a) Orientation programs take place during a time of high anxiety and tension, while training takes
place in a tranquil environment.

(b) Orientation programs take place during a tranquil moment, whereas training takes place during a
period of high anxiety and tension.

(c) When potentially detrimental thoughts of orientation have been addressed, training can continue.
(d) Only (a) and (b)

(e) Both (a) and (c)

Q14. Which of the following statements with reference to the information provided in the given
passage is/are correct?

(i) The viewpoints of potential candidates have an impact on whether or not a position is accepted.

(ii) Time and money are invested in assessing the development needs of new employees.
(iii) Orientation programs offer new employees the necessary tools to enable them to succeed.
(a) Only (ii)

(b) Both (i) and (ii)
(c) All of these

(d) Only (iii)

(e) Both (ii) and (iii)

Q15. Why do most organizations invest in orientation programs, despite the fact that assessing the
training needs of new employees consumes time and money?

(a) It illustrates the organization's commitment to employee development.

(b) It provides employees with the necessary tools to help them succeed.

(c) To assist new employees in overcoming high levels of fear and tension.

(d) Only (a) and (b)

(e) Only (b) and (c)

Q16. Choose the most appropriate filler from the following words to fill in the blank (I), as highlighted
in the given passage.

(a) confiscation
(b) requisition
(c) distraint

(d) analogy

(

e) amusement
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Q17. Which of the following statements with reference to the Japanese approach to selection and
recruitment is/are incorrect?

(a) The majority of Japanese companies hire primarily at entry-level positions.

(b) Japanese companies take longer to hire and train employees than Western companies.

(c) After the HR paperwork is done, western firms expect new employees to take up the function.

(

(

d) Only (b) and (c)
e) None of these

Q18. Choose the most appropriate antonym of the word ‘STALE’, as highlighted in the given passage.
(a) noxious

(b) virulent

(c) rancid

(d) chipper

(e) None of these

Q19. Choose the most appropriate synonym of the word ‘RUN’, as highlighted in the given passage.
(a) hasten
(b) execute

(c) cascade

(d) expedite

(e) None of these

Directions (20-25): In each sentence four words are given in bold. In which one word is either misspelt
or grammatically inappropriate, choose it as your answer. If all the words are correct choose option
(E), i.e., No Error.

Q20. Teachers, especially those working in high poverty(A) enviroments and with(B) marginalised
groups, face an inordinate amount of job stress, it is very important to(C) recognise and validate their
stress, bring it out and(D) discuss it openly.

(a) enviroments
(b) marginalised
(c) recognise

(d) discuss

(e) No Error

Bilingual

Q21. During the framing of the Indian(A) Constitution, it was

proposed that any petition alleging a (B) brech of (C) fundamental Spe.:ia[ Offer
rights by the state ought to be(D) judicially decided within one

month. IBPS CLERK 2021

(a) Constitution

(b) brech PRELIMS

(c) Fundamental
(d) judicially

(e) No error 40+ TOTAL TESTS
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Q22. We have a(A) stending invitation to(B)visit them anytime, but we(C) choose not to
go(D)anymore.

(a) stending

(b) visit

(c) choose

(d) anymore

Q23. Where all parties(A) consent, the(B) court may make, vary or(C) revoke directions without the
need for(D) attandance at court.

(a) Consent
(b) court
(c) revoke
(d) attandance
(e) No Error

Q24. May be, I(A) delivered my(B) opinion more(C) bluntly than I should have, but I had always
been(D) candid with Ted.

(a) delivered

(b) opinion
(c) bluntly
(d) candid
(e) No Error

Q25. Choose the style that(A) suts your shape and style, and you'll look(B) effortlessly (C) beautiful
during the(D) warmer months.

(a) suts

(b) effortlessly
(c) beautiful

(d) warmer

(e) No Error

Directions (26-30): In the questions given below, a sentence has been broken down into four fragments
labelled (A), (B), (C) and (D)and arranged not necessarily in the correct order. You have to find the
correct order of arrangement from the options given below. If none of the options fail to form a
meaningful sentence, mark ‘None of these” option as your answer.

Q26. (A) decade ago it seemed
(B) when the Right to Education Act
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Q27. (A) demands even greater efficiency
B) of agriculture technologies.
C) thus it relies on the use

Q28. (A) monitoring of student
B) beyond schoolwork and

C) behavior often extends

D) normal school hours.

Q29. (A) of love and family
(B) the emotional dramas

(C) have explored in great detail
(D) researchers and philosophers
(a) DCBA

(b) DBCA

(c) CBDA

(d) ACDB

(e) None of these

Q30. (A) lack the means to satisfy
B) poverty is said
C) their basic needs
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Q231. If the average of present age of A and B is 18 years and six years hence A age will be two times of
age of B that time. Then find the difference between present age of A & B?

T A T B T FqATT A1 &7 3feq 18 a9 9T 6 99 912 A il 31, IT THF B ¥ & =l T AT 2RI, a7 A
3T B 3T FqHTT o o 1= &1 ${d< ATd Hioal

(a) 14 years

14 79

(b) 16 years

16 a9

(c) 20 years

20 a9

(d) 8 years

8 Y

(e) 10 years

10 =

Q32. Varun invested Rs. X at the rate of 8 % per annum for five years and obtained total simple interest
of Rs. 5000. Had he invested the same amount at the same rate of interest for two years, then how much
amount would he have obtained as compound interest (compound annually)?

FRUT I AU o o7 T a9 8% i 3T & X %. FT Faer a1 g oiix 5000 %. FT Fef ATLTIT AT TTH FLdT gl
T IA FHIT T T &7 AT 6 T FH1 =977 &< 9 Faer B3 grar, v 3§ Fwg e AT (ATuT Thd i) &
& H foraet TIfer 9T grei?

(a) 2050 Rs.

2050 =.

(b) 2010 Rs.

2010 =.

(c) 2060 Rs.

2060 =.

(d) 2080 Rs.

2080 =.

(e) 2040 Rs.

2040 =.

Q33. A man starts from point P to reach point Q, which is 20 kms apart. If speed of man is 5 kmph,

then find what percent should he increase his speed in order to shorten the journey time by 3/5 th?

o =1 fifg P 3 o 21 g Q A% TR 3, 1 20 il Ay 8 7% 21 A w6 5 Feft ofy w2 2,

qT AT o T Tl 3/5 FH FLA o (o0 IH AT T Fohae Sferera it gl w1 ATgu?

(a) 165%

b) 140%
)

(

() 175%
(d) 125%
() 150%
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Q34. Pipe A alone & pipe B alone can fill the same tank in 5 hours and 4 hours respectively. If the ratio
of efficiency of pipe A & B together to that of pipe C alone is 9:2, then find time taken by pipe C alone
to fill the same tank?

T A THAT 3T ITST B SThelT THTH & &l FHLT: 5 HE 3T 4 5 § ¥ Tohd g1 I ITT A 3% B it ariar
T 3ehed qT2d C T GTHAT & AT 9:2 g, T IHT & &l AL o {o10 7ehel 9129 C GTET oM AT 14T F97 AT
EAIE L

(a) 8 hours

8 =T

(b) 5 hours

5 =aT

(c) 6 hours

6 =T

(d) 10 hours

10 =eT

(e) 12 hours

12 et

Q35. A is 40% more efficient than C and B is 50% more efficient than A. If A and C together can complete
a piece of work in 45 days, then find days taken by A, B & C together to complete 50% of the work?
A, CH 40% ST TAT & 3T B, A T 50% ATerT T gl TTX A 3% C Herawe et & &1 45 faqi § @
Tl &, T A, B 3T C g7 foeehT & &1 50% T FA § o1 aTer fad A7 it

(a) 20 days

20 fa=

(b) 24 days

24 fest

(c) 26 days

26 fast

(d) 32 days

32 fam

(e) 16 days

16 fast

Q36. If 45% of X is equal to 60% of Y and the average of both the numbers is 20 less than the X, then
find 60% of Y?

TTE X FT45%, Y % 60% % ITa g 3T IAT GEATAl 7 3fed X 7 20 FH g, AT Y FT 60% T hior0?

(a) 108
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Q37. P & Q invested total amount of Rs.6400 in business for 12 months and 9 months respectively. If P
& Q gets total profit of Rs.3600 and profit share of P is Rs.1600, then find investment of Q?

P 3T Q 7 U HadT™ H HALT: 12 AgIA 3T 9 AgIA & 1T F1 6400 =43 =hr Tf<r 71 Faer fohem aft P iw Q
T T 3600 FIF FHT ATH (HAAT g ST P T ATH ZEET 1600 F0F &, a7 Q FT fHaer F1q Hiforul
(a) 3000 Rs.

3000 =.

(b) 2400 Rs.

2400 =.

(c) 3600 Rs.

3600 =.

(d) 4000 Rs.

4000 =.

(e) 3200 Rs.

3200 =.

Q38. A vessel contains 64 liters mixture of milk & water in the ratio of 9 :7 respectively. If X’ liters of
milk is added in the vessel, then the new quantity of milk becomes 75% more than water in vessel, then
find “x"?

U 49 H g ST qTHT T 64 ST 707 FH9T: 9:7 F SIquTd # gl TR Fa4 | 'x' iex g9 M Srar g, av go
T 72 AT A § I H 75% ST 21 Sl g, 97 X' S i)

()7

(b) 9
(c) 10
(d) 13
(e) 11
Q39. Shopkeeper sold an article after allowing two successive discounts of 15% and 20% on it. If
shopkeeper earned 2% profit on selling the article and total discount allowed by him is Rs. 192, then
find cost price of the article?

THAIR F TF T8 T 15% AT 20% it T FHART FGe oo & 918 39 94T1| T(Q R aeq Bl a1 9% 2% FT
ATH AT F2AT & ST I 5T ATHAT T e 192%., TN T T HT T AT HI (0|

(a) Rs.500 TEST SERIES

500 %. Bilingual

(b) Rs.400

400 =.

(c) Rs.300

300 =. IBPS CLERK
(d) Rs.600

()1 MAINS

(e) Rs.250

250 =. 30+Total Tests | eBooks
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Q40. Average weight of a group is 36 kg. If a student having weight of 48 kg left the group, then the
average weight of a group is decreased by one kg., then find the number of people in the group
initially?

U qHg T fed 91w 36 R 21 afT 48 FRrm v arer ve et wqg = 3ar &, 97 39 998 ¥ dha A H
T TohIT T T 31 SITAT &, T SAFT § HHg H SARAT il AT AT i TorT]|

(a) 10

Q41. Speed of train B is 20% more than speed of train A and length of train A and B is 720 meters and
600 meters respectively. If both trains running in opposite direction cross each other in 24 second, then
find speed of trains B (in km/hr)?

T B #¥ W, 29 A #F T T 20% ATAF § TAT o7 A ST B ¥ da1s FHen: 720 Hiew 3fi¥ 600 Hiex g1 T
0T o ® Fo ATAT IA1 o 24 Hehe § Teh gl T FAT 6, af e B &hr i (Frefi/sier &) ra o)

Q42. If perimeter of a rectangle is 4.5 times of its breadth and length of the rectangle is 25 meters, then
find the area of rectangle (in meter square)?

T U A FT IRATT ITHhT FATETS T 4.5 AT § S T 6T Fare 25 He g, T AIT FT A% (HieT aiT
) AT Frform)

Q43. The ratio of income & savings of a man is in ratio of 16:3 respectively. If his savings increases by
1/3 rd and expenditure increased by 1/2, then find the ratio of new income to earlier income of man?
T Tk 0 3T ST F9d &1 AT FHLT: 16:3 g1 T3 ITT F=q 7 1/3 At g gl g S AT | 1/2 ¥ 5
Il &, AT SAT<h hl 7% 317 &1 (UGl T & AT AT sl o1 |

(a) 39:32

(b) 23:16
(c) 47:32
(
(

d) 32:19
e) 47 : 36
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Q44. A man invested Rs.25000 on simple interest at R% p.a. If interest received by man is three-
twentieth of the principal after three years, then find ‘R’?

U =<k F R% AT T &% & AT 37 9¥ 25000 .37 fAerer | afe &= o a1 safxe g o =31
qag= #71 3/20 ffFar g, a1 'R’ 1q Fiforw)

(@) 5%
(b) 4%
(c) 6%
(
(

Q45. Speed of a boat in still water is 6 km/hr and speed of the current is 2 km/hr. If boat takes four
hours more in upstream than in the downstream to cover ‘D’ km, then find time take by boat to cover
‘D’ km in still water?

9T STl § Tah A1 =l 1 6 Torwt/=eT § S ey it it 2 foRefi/sieT g1 3fe a1 "D et &t @ a3 e & &
& ATHA T TATT H GTT & ATt A1 5 ATF oAt &, T i St | D' Fhet it 2 07 Feed § 719 17 fora
AT T 519 HIf)

(a) 5 hours 30 minutes

5 = 30 e

(b) 5 hours 45 minutes

5 =c 45 e

(c) 5 hours 10 minutes

5 %2 10 e

(d) 5 hours 20 minutes

5 %¢ 20 faee

(e) 5 hours 40 minutes

5 %5¢ 40 e

Directions (46-50): Find the wrong number in following number series.

et g se@er § T9g 9eq7 1a Hiierm)

Q46.60, 61, 86, 167, 336, 627, 1066
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Q48. 4, 8, 24, 96, 485, 2880, 20160

Directions (51-60): What will come in the place of question (?) mark in following questions.

Ao woat ® wor o (?) % = 92 4T e

Q51. 36% of 250 + 26 +2x ? = 207
(@) 8
(b) 5
©)
(
(

Q.
h
N oo ©

3600 % of 150 + %nf 360 —7= 210
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Q53. 120 x 195 + 13— 7 = 16°
(a) 1534
(b) 1554
(c) 1444
(d) 1544
(e) 1564

Q54.

(42+52) x 45% of 240 = ?
(a) 1062

Q57.

240 % 2.5 + 65 x% =7 225

Bank Prime
Test Pack

IBPS | SBlI | LIC | RBI | Others

1200+ Total Tests

12 Months Validity
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Q58. 756 + 432 -361+7?= 990

Q59.
115 =17x3 + ?3 — \-ﬁ
23x51

a)5
b) 4

<)
d)
e)

Q60.
V432 — 13 +9x32 =7

)9
b) 8

N TN TN N N
_ N W

(a
(
©7
()6
(e) 11

Directions (61-65): Table given below shows number of functions organized in three halls (A, B & C)
in four different months. Read the data carefully and answer the questions.

= ¥ T TrERT AT A= A1 | i gt ((A, B 3% C) H SA=TSIq THILGT i FE&AT Z9qTAT g1 T2 Fl
ST ¥ & ST 7T o 3w &

Months | Hall Hall B | Hall
A C
April 48 72 75
May 60 56 64
June 45 40 30
July 36 42 80

Q61. Total number of functions organized in all three halls in month of June are what percent (approx.)
less than total functions organized in Hall B & C together in month of May?

S % "I | T gietl | SAriorg GHILIgl &l el HedT, 7S & Held § gia B 3T C § AATo1d Tt aHT1Igl &
TR afderd (FRTsT) 9 82

(a) 6%

(b) 4%
(c) 2%
(d) 7%
(e) 8%

)
)7
e) 89

(o}
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Q62. Find difference between total number of functions organized by hall A & B in July and average
number of functions organized by A & B in April?

TS § B A ST B T SASd GHIIRT il Tl §&AT 3% 19 § A ${i¥ B 51T sAIord gHIg! il $irad
AT & A1 L [T FIoru)

(a) 24

Q63. In month of August total functions organized by hall A is 20% more than that of functions
organized by same hall in May & total functions organized by hall C in month of August is 40% more
than that of in previous month, then find total functions organized by hall A & C together in month of
August?

ITET o Held | gidr A G ATIISIT Fe HIG, He | ST giet g7 ATIIra THTg! ol a1 § 20% ferh
S TAT 3TEd & Hgid | gie C g AAS1d $f 900G, (O Agi & qoadT § 40% 9 &, q7 e o Agid
H g A ST C gTT Ua 97 AT Tl THILG sl HEAT AT i)

(a) 196

Q64. Find the ratio of total functions organized by hall A & C together in June to total functions
organized by hall B & C in April?

S H i A ST C g7 SMATord e GHIG! 7 o5l | gier B 3fiT C FT sATSId $f THI0gl | SAqaTd AT

Q65. Total functions organized by hall A and B together in May are what percent more than total
functions organized by hall C in July?

T H EA A 3 B g AT $f g9, JATe § g C FRT AT o GHIgl § fehad gfaerd e
&7
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Directions (66-69): Study the following information carefully and answer the questions given below.

T SITAeRTT T AT g@® ST hitord 3T A1 [0 T 3T & 3¢ Ao

Seven persons sit around a circular table facing the center. F sits 4th to the left of K. Two persons sit
between G and K. B sits immediate left of D. B and G are not an immediate neighbor. L does not sit
immediate right of S.

AT S T<h T FATHIT AT & AT 3T o ol A TG Feeh 96 g1 F, K F T3 A1 T4 T FoT 81 G i K& &=
T AR 95 81 B, D & 3% 914 937 g1 B 3i¥ G Msheaqw 9=t =i 81 L, S 31 213 751 J9oT 2

Q66. Who sits 34 to the right of S?
S % T & 1Y T IT I 937 82
(@) K

(b) B

(c)D

(d) G

(e) None of these

TAH | AIE T

Q67. How many persons sit between F and L when counted to the left of F?

F & 973 § 0T e 92 F 3f¥ L 3 7T Foha =f<h 95 572
(a) One

'Qq;
(b)

Four

A
5 4
s
o

(d) Three

SiE]

(e) Either (a) or (b)
7 T () AT (b)

NRA CET Ready

Q68. Who sits immediate right of G?

G % 3% a4 HI9 937 82
s BANK
b) L

(

- MAHA PACK
(e) None of these Live Classes, Video Courses,
TTH | IS qol Test Series, eBooks
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Q69. The number of persons sit between L and F, when counted to the left of L is same as the number
of persons sit between S and ___, when counted to the left of __?

ST L 3 a1 | 0T A SO S, 9 LS B o = | 9% S ihd i He, EEIRERLCINERISICREES
AT AT IS qTer ATHRAT T AT & THH ¢

(@) B

(b) D

() F

(d) G

(e) None of these

ELGEIERE

Q70. In the word ‘OBLIQUE’, how many pairs of the letters have the same number of letters between
them in both forward and backward direction in the word as in alphabetical series?

9153 'OBLIQUE' ¥, s1&1<1 & UH fohae 90 8 oo a=r sreq<l il Tt ore | oI oY 91 <1 faersti § a9
g, 9 T3 FuiHTeT HEdT | grd 82

(a) None

1T TR

(b) Two

ar

(c) One

'Qq;

(d) Four

IES

(e) Three

=

Directions (71-73): In each of the questions below are given some statements followed by two
conclusions. You have to take the given statements to be true even if they seem to be at variance with
commonly known facts. Read all the conclusions and then decide which of the given conclusions
logically follows from the given statements disregarding commonly known facts.

= f3T 10w T | Fg FU T 39 912 &f (MY QU T 2| 9T 30 T FA91 il 97 G971 8, T of
F FAATT AT & T IATT g gf| T [Feahet &7 920 i o a7 Fiforr & e 1o [t § & i |71 fAowy
ATHT €9 | AT AT Al AdgeAAT (o0 &7 &7 TT FHAA71 67 qrieheh € ATEE0 HLdT gl

Q71. Statements:

All Orange is Papaya.
All Papaya are Mango.
L

et Era T

asft ot o )
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Conclusion

Ao

I: All Mango are Papaya.

I: 75ft ot i g

II: Some Papaya is Orange.

II: %= 91 Ja< g

(a) If only conclusion I follows.

TS el TR 1 SIEeor HLaT gl

(b) If only conclusion II follows.

% e Aoy 11 ST a0 FeaT &l

(c) If either conclusion I or II follows.
T 37 a7 fewe [ 3T 11 a0 3aT g
(d) If neither conclusion I nor II follows.

T 7 a1 Aewd [ & 7 &7 11 S8 w3 g

(e) If both conclusions I and II follow.

TfE Ao [ & 11 T ST F:3d 3

Q72. Statements:

All Driver are Road. No Road is Truck.
Fore: q9fY grEa A< 81 FIs U< T 731 2l
Conclusion

e

I: All Truck are Road.

I 9497 2 T 2

II: Some Truck being Driver is a probability.
I1: % 2 o ST5aY gl il THATAAT ¢

(a) If only conclusion I follows.

TS el AR [ a0 HLaT gl

(b) If only conclusion II follows.

7% Fae Aoy 11 ST a0 T &l

(c) If either conclusion I or II follows.

T 37 a7 fewe [ 3T 11 a0 :3aT g

(d) If neither conclusion I nor II follows.
T 7 a1 e [ 3T 7 31 11 SIaeT w3 g

(e) If both conclusions I and II follow.

Tfe Ao [ &iie 11 AT ST 3 5
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Q73. Statements:

Only a few Rabbit are Duck.

Only a few Duck are Goat.

Conclusion

ER DN

Fa T GO 99 g

AT T a0 TH 2

Conclusion

fRef

I: Some Goat is Rabbit.

I: T T LT 2

II: All Rabbit being Duck is a possibility.
II: AT GG & a7 g1 #hl TqTaT 2|
(a) If only conclusion I follows.

Tf% Faer e [ SIaer w2t g

(b) If only conclusion II follows.

T2 Fae Aoy 11 ST a0 T &l

(c) If either conclusion I or II follows.
T =7 a1 Ao 13T 11 S &2or T g
(d) If neither conclusion I nor II follows.
T 7 a1 e [ & 7 31 11 S8 FaT g

(e) If both conclusions I and II follow.

TfE e [ & 11 T ST 20T F:3d 3

Directions (74-76): Study the information carefully and answer the questions given below.

2T TS TR HT SATIAH AT I o1 ST A= (<0 T T4 & I <l 1or 2|

A certain number of persons are sitting in a row facing north. M sits fourth to the left of O and only
two persons sit left of M. Only two persons sit between M and Q. R sits second to the left of Q. S sits
fourth to the right of O. Not more than five persons sit between P and Q. P sits to the right of S. Eight
persons sit between P and G, who sits at one of the extreme ends.

weh fAfora et | =aih ST 7 ST {3 UF G § 95 21 M, O % a1 | =19 #7179 437 g 37T M & ard
FAT A ATH Ao gl MAT QF AT FaA AT AT a5 8l R, Q o a1 F AL TAM X AT 51 S, O & T3 F A1
e o 35T 21 P i Q 3 it #F wi=r & arfar =it A9 4% 31 P, S ¥ anh 51 21 P 4w G ¥ oA wis AARw 35 F,
ST et U sifaw g ae 42T 2

Q74. How many persons sit in the row?
Gf~F  fohae =f<h 95 82

(a) 18

(b) 21
(c) 22
(d) 23
() 17
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Q75. How many persons are sitting between O and Q? Bilingual
O =¥ Q & we o+ =af=r 9% 82 @

(a) One

T Special Offer

(b) Two

N IBPS CLERK 2021
(c) None

s PRELIMS

(d) Three
Gig

(e) More than three 40+ TOTAL TESTS
e & st

Q76. Who sits 5t to the left of P?
P % ST | qi=d T 9 Fid 957 872
(@) O

(b)
©)
(d)
(e) More than thirteen
SR I PED

R
M
S

Q77. In a certain code CIRCLE is written as DHSBMD in the same way how is PUBLIC written in that
code?

e fAf%ra Fie § CIRCLE T DHSBMD for@T SITaT g1 89T %ie #§ PUBLIC &t e wahe & forar straarm?

(a) QTBKJB

(b) QTCK]JB

(c) CQTBK]

(d) TQCLBK

(e) None of these

TAH | ATE L

Directions (78-81): Study the following information and answer the questions below:

fraferfera STt T stearae hitordr o == fow 10 ot 3 3= <o,

Seven persons were born in seven different months, i.e January, March, April, May, June, July and
August, of the same year and on same date. Q was born in the month which has even number of days.
Two persons were born between S and Q. U is just older to R but not born in the month which has even
number of days. More than two persons born between R and V who is younger to S. P is older than T
who was not born in June.

T SATRAT T TP T 5f a9 6 T AAT-3AT HTg- A<, ATH, TAA, 7%, S, [ATS AT ITEd | ST q91H
fafer =7 gatm =M Q T 57 39 HTg | ot o7 ore# oAt 7 931 a9 gt g1 S #{i¥ Q & &= a1 AThAT T ST+H
AT AT U 2 R & =7 8, AT 30 21 § 5777 718t orar g, s it fr demraw I RAX V, SUST@rer g, %
1= 3T F AT ATh 57\ oI g1 P, T | F=T &, 59t 577 7 751 grav g
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Q78. Who among the following is the oldest person?
Rrerferierd o % e orfesh oy 7 =i i 32

(@)S
(b) P
(©V
(dR

(e) None of these

TH | AL T

Q79. How many persons are younger than T?
T & fras =afxr gre 82
(a) Four

]

(b) One

Three

(e) None

FIE TE

Q80. Who among the following was born in April?
Aot ® & freenT ste it § gatr a2
(a) P
(b) T
(cu
(d)V
(e) None of these

BLGEIERE

Q81. Which of the following statement is not true about V? fR&feriard & & i a7 F47 V & dwaw § I7
Tl 22

(a) Qis older than S

QSHT=TE

(b) V was born in April

V ot i e s &

(c) Four persons were born after V
AT AR HT 0 V F a2 grar g
(d) T is just younger than V
THFVIATETg

(e) Both (a) and (d)

(a) 3T (d) T
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Directions (82-86): Answer these questions referring to the letter sequence given below:

T faw o srers & W g fReterfera v & s e
QRDSTWCKGUVEJZHIXYANOFMPBL

Q82. If the letters of the above given series are written in reverse order, which letter will be the fourth
to the left of eleventh letter from the right end?

T ST & TS FGAT o T Fl Ioc /7 H [o[@T J1dT &, T &13 S H ATgd A F 914 | ATAT AL i A7
gITT?

(@) O
(b)
)V
(d)
(e) None of these

TAH | AIE T

Q83. What will come in place of question mark (?) in the following series?
et @ § w1 =g (?) % T 9% F97 S0

RSD WKC VJE ?

(a) XYA

(b) XAY

(c) IYX

(d) IXY

(e) None of these

EILGEIERE

Q84. Which of the following is 6th to the right of the 13t letter from the left end?
frforfea & & #i9 a8 ST T 139 70 % I F To57 AT 2

(@)Y
(b) A
(N
(d) O

(e) None of these

T | ATE T

Q85. How many consonants are there which are immediately preceded by a consonant and
1mmed1ately followed by a vowel?

U e ST ¢ S 319 T8t U 2SI g 3 31 918 § UF T 8?2

(a) Three

(e

~
Z
O
('D

HTE TE
H Adda247 | No. 1 APP for Banking & SSC Preparation
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Q86. If all vowels are eliminated, then which of the following 10t to the left of the element which is 8th
from the right end?

i T T2l &1 ger foar S, 7 Moot § & 9 97 30 <13 G | A5 a0 6 ard 8 9497 872

(@T

(b) W

() S

(d) C

(e) None of these

TAH | AIE T

Directions (87-91): Study the information given and answer the questions below:

=T IS TR T rea T oy i A= f3w sro et o s=v i

Eight persons live on different floors of a building where ground floor is numbered as 1 and the
topmost floor is numbered as 4. Each floor has two flats i.e., flat P and flat Q. Flat P is in the west of
Flat Q. Flat P of floor 2 is just above the flat P of floor 1 and just below the flat P of floor 3. Similarly,
flat Q of floor 2 is just above the flat Q of floor 1 and just below the flat Q of floor 3.

Two floors gap between A and C and both live in different flats. A lives above B who lives south-west
of D. A and D does not live on the same floor. H live on an even numbered floor above B but in different
flat. F lives west of D. One floor gap between H and E. E lives north-east of G who lives on an odd
numbered floor.

S TE T THILT il [T HISTAT I T8 & STal Sad il §&qT 1 8 37T Tad FUT HIore ahl AT 4 gl T
HIre § & Fofe- Tl P 3T e Q gl Toie P Fie Q & If%H § g1 #ister 2 & Fie P, #iorer 1 % Fie P & 31
ST MY {3 F Fele P o 31 A1 g1 TEHT THh1E, Wi 2 FT FA€ Q, IS 1 % Feie Q # 31k FHUT A Aot 3
% Q ¥ A A 2

A ST C o &= &7 HISTEAT 7 3% g S a1 ToAT-3Te FAel § gd gl A, B % 9% TgaT g ST D & Zeror-ai2rH
H TZAT gl A 3T D HTH HioieT 9¥ Aai Yed gl H, B % FUT U T H&AT ATAT HioTel I TgaT g i ohel STeAT-3T T
T H Ygar gl F, D & 9f%® & Tgat g1 H & E & = u& /o &7 3a< 81 E, G & S9<-0d § ¥gal g Sl U&
oo T FTelt wiorer 9% Tar gl

TEST SERIES
Q87. Who among the following lives in Flat Q of 4t floor? Bilingual
Rererferter # & 1 =ireft wfrer ¥ e Q # TeaT 2 yiteoShutens
E
D IBPS CLERK
o MAINS
(e) None of these
T & FIE 30+Total Tests | eBooks

Adda247 | No. 1 APP for Banking & SSC Preparation
Website: bankersadda.com | sscadda.com | adda247.com | Email: blogger@adda247.com



https://www.adda247.com/product-testseries/10967/ibps-clerk-mains-2021-online-test-series

Q88. Who among the following lives in the west of C?
Merferfad ® & & C o 912\ § 12T 82

)B
) G
c)E
d) F

(e) None of these

TAH & A R

o o

|
(
(
(
(

Q89. Who among the following lives just below D’s Flat?
e & & 19 D & T2 & 3% 419 @ara?

)B
b) C
) E
d) H
(e) None of these

T | AIE TE

(a
(
(
(

Q90. Four among the following five are alike in a certain way and related to a group, who among the
following does not belong to the group?

et o= # & 9 v A% ads & 99079 g ofiT UF 99 | 9aieq &, Faforiea § ¥ w7 a9g & qatdq
SELEY

Q91. Which of the following statement is true about F?
e & o 19 97 F99 F % 9va¥ § 97 872
(a) F lives on an odd numbered floor

F U= f3we §&q1 aTe(l ’iorel 9% TgaT g

(b) H lives above F

H,F¥%3ImIEare

(c) C lives south-east of F

C, F ¥ zferord # vaar &

(d) F and G live in the same flat.

F 3l G 999 Fie § T&d 2l

(e) All are true

asft a7 §
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Directions (92-94): Read the following information carefully and answer the given questions:

M TeT e SITAaRT &l e ga ieU 3 &0 I 317 o I S

Arun starts walking from point D in north direction after walking 12km he reached at point G then he
takes a right turn and covers 8km after that he takes a left turn and covers 6km to reach at point F.
Finally, he takes a left turn and walks 10km to reach at point V.

sen A DA I Rem ¥ FomT e war g, 12 Tt o s A ag g G W ug=ar g, e ag s qear g &iix
8 TorHT =ITaT § 39 918 dg a4 q=aT g ¥ f6g F 92 uga+ & forg 6 foret it T a7 Far g1 3@ #, 98 9
T g 3% f6g V o ag=+ & form 10 Bt sr=ar &

Q92. If point L is 18km south of point V then what is the shortest distance between point D and point
L?

7 fig L, fifg V ¥ 18 Fmft 2feror # 2, 1 fifg D s g L 3 wer = 1 o 22
(a) 5km

5 fereit

(b) 7km

7 Tt

(c) 2km

2 Tt

(d) 4km

4 Tl

(e) None of these

T | AIE TE

Q93. Find out the shortest distance between point G and point F?
a3 G 3w {63 F & &= &t =a| g 1a hifor?

(a) 8km 8 fHeT

(b) 9km 9 it

(c) 7km 7 foeT

(d) 10km 10 f=HT

(e) None of these TTH | &< A5l

Q94. What is the direction of point V with respect to point D?
gD F A=t # g V &t Rem w82
(a) North-East

I

(b) North-West

EREEEIET ]

(c) South-East

D

(d) South-West

aferor-afars

(e) None of these

T | AT TE
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Directions (95-99): In these questions, relationship between different elements is shown in the

statements. The statements are followed by conclusions. Give answer

et ot §, Fot § [T e & = G FT 9737 07 g1 FAAT 6 978 [Fohy QU 10 g 397 o

Q95. Statements/FHI:
D>2K<H=0O;N>]J>H
Conclusions /fAsFd

I. N> K

ILN<D

(a) If only conclusion I is true

% o FeFg 197 g

(b) If only conclusion II is true

Tfe e AT [ aeT 8

(c) If either conclusion I or II is true

FRATa AT (AT T 8
(d) If neither conclusion I nor II is true
Fleaar AT [T g Iaa g

(e) If both conclusions I and II are true

Tfg Fewd [ [ I a7 8

Q96. Statements/HAT:
S2L>2U>B=G
Conclusions /Ay

LL>G

ILL=G

(a) If only conclusion I is true

I g ey [ 9T 8

(b) If only conclusion II is true

I o Moy [ 97 &

(c) If either conclusion I or II is true

TRaTar AT (AT T 8

(d) If neither conclusion I nor II is true

TRaTaI AT s agrlIaag

(e) If both conclusions I and II are true

i Ao 13T [ ST T &
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Q97. Statements/®I:
E>D<]>V2R2S=F
Conclusions /fAsFd

I.D>F

II.J>2D

(a) If only conclusion I is true

s et ot | e

(b) If only conclusion II is true

I et Aoy 11 97 8

(c) If either conclusion I or II is true

FRATar AT [T 9T g

(d) If neither conclusion I nor Il is true

TRTa AT [ TgrlIaT g
(e) If both conclusions I and II are true

T Ao 1 i 11 <1 a7 &

Q98. Statements/&FAT
D=E>K>X=B<S52>C
Conclusions /s

I.C<K

I. DS

(a) If only conclusion I is true

1f Srer oot [T

(b) If only conclusion II is true
IR o Moy [ 97 &

(c) If either conclusion I or II is true

JRArar Fewd (AT T §
(d) If neither conclusion I nor II is true
TRaTaAwT iR agrlaTsg

(e) If both conclusions I and II are true

Ifs g s [l I aT &

Q99. Statements/HAT
N>2G>H>2[M>H2>T
Conclusions /Ay
LN>T

ILM>I
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(a) If only conclusion I is true BILINGUAL
% Faa FeFg [ a7 3

ill_)i:)é I;;l)zrly concl;sé;r;él is true Ba n k P ri me

(c) If either conclusion I or II is true TeSt Pa c k
FRarar AT (AT 8T ¢

(d) If neither conclusion I nor II is true IBPS | SBI | LIC | RBI | Others
TRATa AT [ agrIaT g

(e) If both conclusions I and II are true 1200+ Total Tests
T Ao 1 i 11 <1 a9 8 12 Months Validity

Q100. In the given word “EXPRESSED” if all the consonants replaced with its next letter and all the
vowels replaced with its previous letter after that how many letters repeated in the new arrangement?

Tf faw 77 etz “EXPRESSED” # T¥Y ST il SHeh el AeAT & Iadl (@A JATdT g 37T qft Tl &l 39
Ol 1T & e (3T STaT 8, a7 S 918 9% AaedT § ohad teq<f i g gl g2
(a) Three

GIG

(b) Four

R IES

(c) Two

ar

(d) None

FIE T

(e) One

'QT:F
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